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Cuadro 19 (continuación 2)/Table 19 (continued 2)
República Dominicana: tablas abreviadas de mortalidada

Dominican Republic: abridged life tables 
a

1970

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.120 0.110  100 000  11 012  91 954 0.872 b 5 673 286 56.7
1 4 0.013 0.050  88 988  4 406  343 983 0.965 c 5 581 332 62.7
5 5 0.002 0.010  84 581   884  420 698 0.991 5 237 349 61.9

10 5 0.001 0.007  83 698   567  417 070 0.992 4 816 651 57.5
15 5 0.002 0.009  83 130   747  413 783 0.989 4 399 582 52.9
20 5 0.003 0.014  82 383  1 154  409 030 0.985 3 985 798 48.4
25 5 0.003 0.017  81 229  1 366  402 730 0.982 3 576 768 44.0
30 5 0.004 0.019  79 863  1 504  395 554 0.980 3 174 038 39.7
35 5 0.004 0.022  78 359  1 720  387 493 0.976 2 778 484 35.5
40 5 0.005 0.027  76 639  2 051  378 065 0.968 2 390 991 31.2
45 5 0.008 0.037  74 587  2 762  366 033 0.954 2 012 926 27.0
50 5 0.011 0.056  71 826  4 016  349 089 0.933 1 646 893 22.9
55 5 0.016 0.079  67 810  5 327  325 732 0.900 1 297 804 19.1
60 5 0.026 0.123  62 483  7 690  293 189 0.845  972 072 15.6
65 5 0.042 0.190  54 793  10 431  247 887 0.767  678 883 12.4
70 5 0.066 0.285  44 362  12 627  190 241 0.672  430 996 9.7
75 5 0.096 0.388  31 735  12 304  127 914 0.556  240 754 7.6
80 5 0.149 0.536  19 431  10 416  71 114 0.424  112 840 5.8
85 5 0.209 0.663  9 015  5 980  30 124 0.310  41 726 4.6
90 5 0.276 0.767  3 035  2 328  9 353 0.219  11 603 3.8
95 5 0.340 0.838   706   592  2 053 0.087 d  2 249 3.2

100 ω 0.584 1.000   115   115   196   196 1.7
Mujeres/Females

0 1 0.101 0.094  100 000  9 445  93 109 0.888 b 6 019 627 60.2
1 4 0.012 0.047  90 555  4 217  350 774 0.968 c 5 926 518 65.4
5 5 0.002 0.009  86 338   787  429 721 0.992 5 575 744 64.6

10 5 0.001 0.006  85 551   508  426 485 0.993 5 146 023 60.2
15 5 0.002 0.008  85 043   712  423 437 0.990 4 719 537 55.5
20 5 0.002 0.011  84 332   935  419 320 0.988 4 296 100 50.9
25 5 0.003 0.013  83 396  1 123  414 173 0.985 3 876 780 46.5
30 5 0.003 0.016  82 273  1 341  408 013 0.982 3 462 607 42.1
35 5 0.004 0.019  80 932  1 572  400 730 0.978 3 054 594 37.7
40 5 0.005 0.024  79 360  1 926  391 984 0.972 2 653 864 33.4
45 5 0.006 0.032  77 434  2 459  381 021 0.962 2 261 881 29.2
50 5 0.009 0.045  74 975  3 366  366 459 0.946 1 880 860 25.1
55 5 0.013 0.063  71 609  4 503  346 788 0.922 1 514 400 21.1
60 5 0.020 0.094  67 106  6 325  319 720 0.884 1 167 613 17.4
65 5 0.030 0.141  60 782  8 565  282 496 0.820  847 893 13.9
70 5 0.051 0.227  52 217  11 827  231 515 0.723  565 397 10.8
75 5 0.082 0.342  40 389  13 826  167 381 0.599  333 883 8.3
80 5 0.131 0.490  26 563  13 015  100 276 0.463  166 502 6.3
85 5 0.191 0.630  13 547  8 530  46 413 0.339  66 226 4.9
90 5 0.261 0.746  5 018  3 745  15 725 0.236  19 813 3.9
95 5 0.335 0.833  1 272  1 059  3 713 0.092 d  4 088 3.2

100 ω 0.567 1.000   213   213   375   375 1.8

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


